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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 fgw arv Jut wefgh & WafUd e # IHUiead Ug & IaT eS|

RAMA : MARA :: SITA :
Find the missing term for the related pair of letter clusters.

RAMA: MARA = SITA:
Ans 1 TSAI

X2 TIAS

< 3 SIAT

v+ TISA

2 gfy gl war
Growth hormones function:

Ans <1 Foft ot rerry SRS FFTH
rarely as growth promotors
Y &)
il Faenrd Sicares 3 Fefl-welt foepre st S § I &

sometimes as growth promotors and sometimes as growth inhibitors

x gHer e 3E0as FETH
always as growth inhibitors

e R RFE IcEEE F T
always as growth promotors

Q-3 37 orr ¥ oI BT Hi A1 § o 435 & Sirger 9% ve T 79 S g 8

The least number to be added to 435 to make it a perfect square is?

Ans X1-3
<28
N




X4

Q.4 X # AT BHFT T gT, Y T 7, "X & AN H F vHAT ¥ F TR
T Y X & 2l
Pointing at X, Y says, “X is the son of the only son of my mother”. Then Y is X’s

Ans qHT
X =

Father-in-law
x 2 S
Brother
rar

Father

X 4 alal
Grandfather

W 3

Q.5 = §Ea A, B, C 3 D 50 9N ¥ T 3o 3tag 16 81 A 3t B &
staa o5 ¥ ¢ 3ilt D F sitwa F=T ERT?

Four numbers A, B, C and D are such that their overall average is 16. The average of A
and B is 9.5. The average of C and D is:

Ans X 1.21.5
V2225
<3255
< 423

Q6 FT @ Tl Fa% T WY F FR 3R T T ¥ 2
Which permanent tissue makes a plant hard and stiff?

Ans mmr
p 8

Collenchymas

v :
Sclerenchma

AT

| Parenchyma

TLAFISAT

| Aerenchyma

X3

p

Q7 IfE x® + kx + k = 03 HIS gl 741 & af k & A farT & & frder
T FHEM?
Ifx2 + kx + k = 0 has no solution, then the value of k will satisfy:
Ans =
o k=4
k=>4
,0<k<4
O<k<4
k<4
3

k<4




 k>—4
k> —4

% e weher 3gfed HT AT F FAT FET S &
A sound of single frequency is called a:

Ans
X1 Al

Note

% 6561 FT TS FAT A

What is the square root of 6561?
Ans X 1. 77
< 289
X 379
v 481

Q10 15 wzalr 2018 #r TaR &1 18 314w, 2019 & Har & & gem?
15% February 2018 is a Thursday. On what day will 18t April 2019 fall?

Ans GRS

eI

< 3
Friday
EA2ELES

]
4

| Wednesday

@t 576 FT FNHS FATE 2

What is the square root of 5767
Ans J 1. 24
x 236
X 326
< 434




40 | 37| 35 27
26| 76 86
83 | 71 4 21
D 1 7 3 11

0O|lm| >
»

Bl || =

The Party which won the highest number of seats is

Parties and seats won
Serial | Party| South | East | West | North
No.
1 A 40 37 35 27
2 B 6 26 76 86
3 C 83 71 4 21
4 D 1 7 3 11
Ans x 1. A
X2D
v :B
X4C

¥ RrafafEa & ¥ FiF @ o=or 3T 8
Which of the following salts is acidic in nature?
Ans v . AT FEte
Sodium Carbonate
x 2 aIfzas v
Sodium Acetate
| TR FIEHE
Ammonium Phosphate

4.ﬂ??ﬁﬁ'ﬂ?=rm

Magnesium Sulphate

x

~<

Q14w arg # 3fra e T 170 F RFa Hea T 130 8, ge A @w A Hifswl

The rate of discount on an article whose marked price is ¥ 170 and selling price is T 130
is:

Ans X 1.22.45%
X 2. 24.26%
V'3 23.53%
< 4. 23.60%

Q.15




3 717 et B w@Er AT st Ao fifaw & Fia @ TS Fuet @ v
e T H FFEOT F §

FeA:

FT g8 i & FO vl g Fey £

ot
1. T o 5% gl
2. 3 fegrdr Aoy = &
Consider the given statements to be true and decide which of the conclusions logically

follow(s) from the statements.

Statements:
Some carpenters are plumbers. Some plumbers are daily wage labourers.

Conclusions:
1. Some plumbers are carpenters.
2. Some daily wage labourers are plumbers.

Ane o Faer TPy 2 3TEIT HIA B
1.

Only conclusion 2 follows.

1 3R 2 At 3eEr F
Both 1 and 2 follow.

 arer TRy 1 HgaRoT e B

Only conclusion 1 follows.

4_3?&134‘1?3@234@%%

v

x

~
Neither 1 nor 2 follows.

1 Qrafafaa ¥ fQus 1 ggae $ i

Identify the odd one out from the following:

darg
K 7

Air

Ans

Q17 ofy v AR & Areas & Fafe g arelr fega i 3N v soagia T A e
. A1 ¢ Behs F varfaa e arer selaeiat s BT s fas AreaH & i frar e
[T E?

If ] is the current through a wire and e is the charge of an electron, then the number of
electrons crossing in f seconds will be given by:

Ans X1 o/Tt




X 2 Jeit
v 3 Jie
< 4 Ite

Q.18 337 wr wag & WO w{ o MfRT 3w R 1 R e g

Select the correct set that represents the following Venn diagram.

Ans BTFeT, HeIST, IMT
X 2

Doctors, human beings, cows

gy, T, ST
K22
Males, fathers. doctors

X3

| Cat, toys, girl

v
TGN, T HRarr, e afea

Office boys, government employees, educated person

O 37 3aR F IUA L S TAE A TERT T L

PIE|I]O

1 2 3 4
Select the letter which does NOT belong to the group.

PIE[I]|O

1 2 3 4
Ans xl_ 2

o1
X33
X a4

02080 F 15 % &F 45% & UL ¢l
15% of 60 is 45% of

Ans




<140
< 2180
'3 20
< 430

Q.21 e gmRET 3% 71 * 10* Hz ¥ 3mgfeq A 3108 Fex wfy d9s Hrafa & arr awi
T SN HaT & | T &7 AT G

A broadcasting station transmits waves with a frequency of 71 x 10* Hz and a speed of
3x10® m/s. The wavelength of the wave is:

Ans 418.8 HeT
' 418.8m
208.4 #HreT
208.4m
422.5 #eT
4225m
324.6 HIeT
324.6 m

r 8

% gotete 3 ToT el 3 T 3T Hid AT
The essential organs in a flower for reproduction are:

Ans TETC AR T
X1 2
the sepal and stamen

| the stamen and pistil
| eI R g
| the sepal and petal

| T A Eee
*the petal and pistil

v

<

x

Q.23 #fy 7w 3y Tr & & # T87 F 1:2 F gud A Renfaa fear v
o e Fr fhaer T9r fEeEr?

If T 87 was divided between James and Radha in the ratio 1 : 2, how much money did
Radha get?

Ans of 1% 29
X 2% 57
< 3%59
< 4 T 58

Q-24 7% 2017 & 5w oW FaeT TF ‘& e Us e wEg & Wy
weEEt & w9 # A Yo e & v 3R @ Sar arr

‘Which Indian tabla player won the Grammy Award for his collaborative music with ‘The
Silk Road Ensemble’ group in 20177

Ans




| W g|
Sandeep Das

x o T T

Zakir Hussein
< 3

Rimpa Shiva

Tarer gHEr
F

Yogesh Samsi

v

Q.25 35 e & éawer 7T w{ Fws ¥ (2, 4), (- 3, - 1) 3 (5, 3) Rwgw
g

The area of the triangle whose vertices are given by (2, 4), (— 3, — 1) and (5, 3) is:

Ans -
xL?a:‘rsaaém

7 sq. units

21431%33:@%

14 =q. vnits

32031%33:@?

20 sq. units

41031%33:@#

10 sq. units

~x

x

v

Q.26 At fow a1v sodA! wt wEr A AN g vl Y & wudl @ i @ Fnut
FT THANT T T TTeleT & @ 2l

U
S A AU AGT §| BS A FAU AT A€ FO AH G

s
1. B ofr A9 3\ 7 7
2. ;S & B9 H@aw A 1
3. o da A ¢
4. @sfr ¥9 3 &
Consider the given statements to be true and decide which of the conclusions logically

follow(s) from the statements.

Statement:
No mangpo is an orange. No orange is an apple. Some mangoes are apples.

Conclusions:
1. No apple is a mango.
2. No apple is an orange.
3. Some oranges are mangoes.
4. All apples are mangoes.

Ans Xl-
Fdol TSy 1 IT 3 T IS aF &T &

Only conclusion 1 or 3 follow




xzﬂﬁﬂﬁﬁ?é1aﬂq|:~m%’r{5|%

| Only conclusion 1 follows

«3ﬂa_ci?rﬁ'lﬁl—7¢23—7rq|ma W@ E
Only conclusion 2 follows

X 4

oo fasey 2 3t 3 &1t &1 9o & wr g

Only conclusion 2 and 3 follow

Q.27

Ans

et TeT T 4400 =TT HY 8% AT 8T W T 4576 &Y A9, T 78 Togis
T A gofsa e i
In what time will ¥ 4400 become T 4576 at 8% per annum interest compounded half —
yearly?
v. T
1.
6 months

Q.28

Ans

XMmaFsemeamtir s s ¥ s sls o md &
e 4 3% R sy § 3 9oie Ted Soat & TIT 1 3 e S g ar X
ganr fT 1w wrera Beokt S wEa gl

X attempts 94 questions and gets 141 marks. If for every correct answer 4 marks is given,
and for every wrong answer 1 mark is deducted, then the number of questions wrongly
answered by X is

v 147
X 2 40
X 3 57
X 4 45

Q.29




Ans

RrarmaI W R s N v T Fwa w 3c e & v R &
Fle AT T 9T B

g =@fed P, Q, R, S 71 T el ufea & @2 €1 oea & Mg & i #7

ERCH

1.T & =i 3T Q #l
2PN TFMmIASH

Consider the given question and decide which of the following statements is sufficient t:
answer the question.

Five people, P, Q, R, S and T, are standing in a line; who is in the middle?

Statements:

1. Qistotheleft of T.
2. Sisin between P and T.

p 8
FUT 1 AR FUF 2 g1 & 3W & TR H 3cck & F T8 ¢
Both 1 and 2 are sufficient to answer the given question.

X 2
YA 1 3holl & 3W & U & Ioal &l A TEH § W HUA 2 Heholl &1
I & O A 3ol &7 H WA A &

1 alone is sufficient while 2 alone is not sufficient to answer the given question.
x 3
YA 2 3holl & 3 & U & Ioal &l H TEH § W U 1 3Heholl &
3W F T H 3c & 7 WEH AGT &
2 alone is sufficient while 1 alone is not sufficient to answer the given question.
v
a1 at e 1 3T AT & FUT 2 I F WA FT 3ol & H THH &

Neither 1 nor 2 is sufficient to answer the given question.

Q.30

Ans

. 0 0

sin 30 + 1+ cos 30 =9
1 + cos20° sinz0®

sin 30° 1+ cos 30° _n
1 + cos30° sinzo® ’

X113
X 21
X3 2
V4

Q.31

Ans

T S Tl H Tl (b & H HIEIT il 87
The energy stored in a dry cell is in the form of:

p !
Potential energy

xz_mﬁ:ﬁwﬁ

Nuclear energy




5 =T FaT

Rs
Kinetic energy
v TEATAE FaT
Chemical energy

Q32 37 fawed &1 To= F{ o eafafad B # Bl & Fo FEr g g

AN

Select the option that represents the number of triangles in the following figure.

A\

Ans X1 G
X2 4
<33
V5

O3 eh gre =72
One Watt = ?

“SXL1Hﬁmﬁtﬁg
1 erg/sec

1 urEhel Ui Wehs
1 Pascal/sec

1 HieT ufa dehs
1m/s
{41quﬁiﬁs

1 Joule/sec

x

x

Q-34 Tt it 3573 AT FeIAT & YR T Feffepe 2T 7 47 Ty <7 &
The credit for classifying the elements on the basis of their atomic masses goes to:

Ans v s Az
Dmitri Mendeleev
X2 ST Soead
John Dalton
John Alexander Reina Newlands
) STTETe oxpe 9T STalel
| Johann Wolfgang Dobereiner

x

x




Q-35 waer: 20 et 3 50 oiamA awe arer of TEgEt & @ HYUT B g
frae 2w, ofg 5% @ g 2 Aew En

‘What will be the force of attraction between two bodies weighing 20 kg and 50 kg,
respectively, with a distance of 2 metre between them?

Ans - X 1.16.675 X 10711 N
¥ 216675 x 1071° N
#3667 x 10711 N
< 41667 x5 1°N

Q.36 Ru 71w et FF AWgEE 9¢ HN FAW & gHET 3ew & & fov e
FuAl #F ¥ HiT gaa §E

sﬁuﬁ%rﬁma’u‘rﬁﬂagcrs:?

e
1. ISATT H Tt 3 forar & 25 9 e 2
2.aﬁmraﬁra3;rsn1974ﬁﬂa§éaﬁmﬁmﬁ35mm€ra

Consider the given question and decide which of the following statements is sufficient to
answer the question.

What is the birth year of Mr. Rajesh?
Statements:

1. At present Mr. Rajesh is 25 years younger to his father
2. Mr. Rajesh’s sister who was born on 1974 is 35 years younger to his father

Ans Xl-
Fad FUT 2 TATT § FAGF Fad HAT 1 AT &

Statement 2 alone is sufficient while 1 alone is insufficient

X 2
Fad FAT 1 T g TS Fad FAS 2 JAUATT ¢

Statement 1 alone is sufficient while statement 2 alone is insufficient

W 3
FuT 1 3T Fua 2 e gaeg &

Both statements 1 and 2 are sufficient
o, BUA 1 AT FAA 2 TATT §
Either statement 1 or 2 1s sufficient

Q37 &y T A Ao W ILUT WEAT T ThA HL

4, 9, 20, 44, ?

Select the number missing from the given number series.

4,9,20, 44,7
Ans x 1. 90
v 295
~< 380
#4100




Q.38 p: 37 WaW TIeT UATcHS Julish &, & P* & T Il eelcAs quiish N & ar
=T FEATHT & T & & F TOrGm o Hhar 1 ar P &

‘P’ is the smallest positive integer such that every positive integer N greater than ‘P* can
be written as a sum of two composite numbers. Then ‘P~ is:

Ans of 111
K26
<310
K43

Q.39 rAfef@T & ¥ i a5 3FaT & &K F = & § T v =@ ar?
Who among the following was NOT one of the ‘Nine Gems’ of Emperor Akbar’s court?

v IEATT el T
Osman Ali Khan
| T ST AA
Raja Todar Mal
.agar-m FeT HARH

Ans

X3
Abu'l-Fazl ibn Mubarak

, PR Ffaa-fea
Fakir Aziao-Din

<

Q.40 TFUETTF TR Fr 2 T H s Tl &1 T =918 ¥ o= 89 & For ehr oy
ﬁz%mmaﬂmh T & T B AT Toho 5AT & @reit s e a7

A pipe can fill a sump with water in 2 hours. Because of a leak, it took 2 Shours to fill the
sump. The leak can drain all the water of the sump in:

Ans hd
X1 6 T

6 hours
119
11 hours
8 T

8 hours

159

15 hours

X 2

W 3

X a4

QA e sive R ST AT 2017 i F ARG F ST o

Which Indian won the 2017 French Open Super series tournament?
Ans AT HEER
KL
Dipankar Bhattacharya

, AT AGTHT

George Thomas

HiATFAR T,
3.

Anilkumar Raju

<

~<




v ST R
Srikanth Kidambi

Q.42 ﬁ:mﬁ’maﬁa:ﬁmﬁﬁm?ﬁaﬁﬂaﬁﬂ?mﬁﬁ?ﬁammﬁaﬁr
wigr Fgen 3-

The tendency of undisturbed objects to stay at rest or to keep moving with the same
velocity is called:

Ans X . a?.l.

velocity

momentum

v =

inertia

Q.43 fo=efa & & &l @ uig 32 T 7 ueh & Fr afafRar =g wEr € 2
Which of the following metals does NOT react with cold or hot water?

ne Xla‘r%uw

Sodium

Qe
Potassium
o hiceraH

Calcium

TeOAIT=TH
2 2

Aluminium

X 2

Q44 3q fasheq 1 T Y, N & 715 = F@er # @l T W A0

9811 504} 39 L0 L A

Select the option that will correctly fit in the blank space in the given figure series.

31 3| S LA

Ans

[




x|

Q.45 F=r v 7ir = Rt #F ¥, A= v v Ry & = F w9 oy & mma w0

Problem Figure

e

Answer Figures
A B C D

Problem Figure (F2sT-3mfa)
Answer Figure (3eai-3Tia)

From the given four figures choose the correct water image of the below figure.

Problem Figure

X

Answer Figures

KX Xx Xx xx

A B c D
Ans «1D

K2C

~ 3B
X oA

Q46 e 2020 FT ForzT FIF T I¥ F AT g
The calendar for the year 2020 will be the same for the vear:
Ans  of 12044
X 2.2076
< 3.2040
X 4.2096

Q47 167w v 4 Fr s faet F IR 12 9% F FF TACT I TS §1 5
FH & I AT AAF T HeT R 24 foedt F wfofee s O R w1
TAT FGT % fow fhaer et $1 smEeaswar gem

A piece of work can be done by 16 men in 8§ days working 12 hours a day. How many
men are needed to complete another work, which is three times the first one, in 24 days

working 8 hours a day?

Ans 22989
1. =

22 men




23989
2. ]

23 men

25 9%y
3. =

25 men
24 ‘ClaF'Sl'

o 4
24 men

QM pH 77 F 7 & 14 F F g8 ey v whafafe e &

The pH value increase from 7 to 14 represents a:
x,, OH 3= TEaT # At
decrease in OH- ion concentration
N ] .
, H 3= amsar 7 i
increase in H™ ion concentration
X 3 H" 3ae |gar # &Ar
decrease in H™ ion concentration
| OH" 3mare wigem 7 Ffe

increase in OH- ion concentration

Ans

x

-

Q.49 ot Hifere & @i = ey BT 71 Fue #1 FH9or 38T F3a ¢
FUA:
HehdTl
fors:
1. FHIE T THUT F AT T FGT B TAE A ST TR
2. YeERT & HATILET & T HEANRT Ht  HAlg & e =Tl

Decide which of the conclusions logically follow{s) from the information given in the
statement.

Statement:
A company cannot make profit unless both, management and employees work together.

Conclusions:
1. The workers should be advised to cooperate with the management.
2. The management must be advised to cooperate with the employees.

Ans xl;rr-fﬂaﬂtsr?rzaqwm%

Neither 1 nor 2 follows

Faer frsey 2 HFETOT FAT
’ Only conclusion 2 follows

Faer sy 1 3TEIT FIAT §
| Only conclusion 1 follows
1 3 2 T T B ¢

Both 1 and 2 follow

X3

-




N0 B 7 FL

36 —[18 — {14 — (15-4 + 2x 2)}]

Solve the following:

36 — [18 — {14 — (15- 4 + 202)}]
ans X120

X222

Vs 21

X423

Q9o %
AGHUw

e o Rt F ¥ yedw w1 ik o ar Iwer w5 ofy O weEn &
Fenfee frar o & ¥ &t w9 B & & siF g

1 2 3 a 5
[ 7 8 9
If three groups could be formed using the given figures only once, these groups would be

Ans . (1, 9, 4), (3, 4, 6) 3T (2, 5, 8
(1,9, 4), (3,4, 6)and (2, 5, 8)
(1,9,6), (3,57 A (24,8
(1,9,6). (3.5, 7)and (2, 4, 8)
s (2, 9, 6), (3, 4,7) 3T (1,5, 8)
(2.9,6). (3.4, T)and (1, 5, 8)
,(1,9,6), (3, 4,7 (25 8
(1,9,6), (3,4, 7)and (2, 5, 8)

~<

Q.52




i W 3co-3pia (Answer Figure) & 71§ wea-3Tp{ (Problem Figure) =T

Answer Figures

AR

D
Which of the Answer Figures is the correct mirror image of the given Problem Figure?

=
A
Ans X1 A

X2C
v3D
X 4B

% v o R # W Rwew F @y qu #H

Ans




QM Fraeg Ak e o e s Fm 1s3r v Asw @ ¥ = C

oY 7Y & F 45 U2 F wWiet S AT § 99 HS ey ST 74 = @7 gl
YTAT H F Th TR o, w5 A Ay C = A Fo uel % e
WET A FF g T T T AT 1ew B & Avel @ w4 5w veH Edr s
# o 55 U @R 9T B & et @ e e

Two pipes A and B can fill an empty cistern in 18 and 27 hours, respectively. Pipe C can
drain the entire cistern in 45 hours when no other pipe is in operation. Initially, when the
cistern was empty Pipe A and Pipe C were turned on. After a few hours Pipe A was turned

off and Pipe B was turned on instantly. In all, it took 55 hours to fill the cistern. For how
many hours was Pipe B turned on?

Ans X 1.50
v 2 45
< 330
X 427
Q.55 T H fF FuT F T TR F A FA-ET AT THENT T H
STELOT FLT 2l
Sl
T Al FEEA A T @ E HiF SHAN THAT FeT WeH-GHEAT A a9 A 7T
S I =18 T @7 |
AT
1. 9g A " § & a8 38% a8 & e o)
2. 5g A Grdr § o Seat 3ue @ A6 E
Consider the argument and decide which of the given assumptions is/are implicit.
Argument:
A mother is crying in the hospital as her only son died in a road accident while driving his
bike.
Assumptions:
1. The mother thinks it’s her son’s fault.
2. The mother thinks that God is not with her.
Ans

v
o P FAT 1 HFJAWT FHIAT g AN 7 & 2

Neither 1 nor 2 is implicit

X 2
A 1 3R 2 A & R e

Both 1 and 2 are implicit




T ITATA 2 3TTHIOT FIAT g
3.

Only assumption 2 is implicit

x4.ma§mﬂ1a§wm%

Only assumption 1 is implicit

Q.56 7t & f vy ol & & wedw F TEAIC UH G Yoo H IEOT S
2, 30 Rwreq & =3 = S B B & fav 1w wea [=Es (?) & s€oT Wehal
gl

101 43 48 34
38 i

35 15 56 184
A B

Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (?) in figure B.

101 43 48 34
38 7

35 15 56 184
A B

Ans - X 1136
<2127
~< 3128
v 4142

Q.57 g ¥ it W Yerd FolRRiE Tga # 3ufeyd a9 #r wpfd & R W
faR T & |y THE § 2

‘Which of the following glows with special colour depending on the nature of gas in the
fluorescent tube?

Ans
e CollaHAT

Plasma

S
Hydrogen
| - YA

X2

x

Bose-Einstein condensate

x4@ﬁl€m

Helium

%8 ymyferes smaa wRol F argst # FE W @ T §?
Metals are placed on which side of the Modern Periodic Table?

Ans xl.wﬁﬁ?

Top row

o, 3

Right side




ICECICICT
Bottom row
ST AT
Left side

X 3

v

Q59 gzardy 2018 @, AR FU F AT T F A FA §2
As of February 2018, who is the India-born CEO of the Nokia company?
o, I g s
Ajaypal Singh Banga
X 2 ‘
Satya Nadella
gaX =g
Sundar Pichai
=T g
4,

Rajeev Suri

Ans

X 3

v

Q.60 it ey & e HFATSS & <Y 3olt 3 Fry-wY R & wner sff Wit w32

Metal oxides which react with acids as well as bases are called:
<L Taras
Acidic oxides
X 2 & :
Neutral oxides
. TFhI e ATFAEE
Amphoteric oxides
X 4 T HFaEs

Basic oxides

Ans

v

Wl or Oy H. 39 & 71 U A7 F qREfaT gar & 2

In a plant, which of the following is converted into seed?

KL

stigma
X2 3SR
ovary




Q€2 fagy oftwy 3 Regy FoIE Brud Za TaE AT B2
What enables an electric current to flow in a circuit?
o TG # A
The motion of neutrons
o , St & ot
The motion of positrons
| Seie s ity
The motion of protons
. T &

The motion of electrons

Ans

<

Q.63 2017 # 3ANFI-ARE =i ofivg (LUw.HSAa) g3 BFa A
FETES W gEedteT #iw Ay R ¥ et R

‘Which Indian chief minister was awarded the ‘Transformative Chief Minister Award’ by
UsS-India Business Council (USIBC) in 20177

Ans . ¥ TgrET T
K. Chandrashekhar Rao
EEIGREGIEED

Naveen Patnaik

v S 2

Chandrababu Naidu
x ., o

Siddaramaiah

X 2

Q642 gy Fy & fArw 2 & foraa Sie B saeEsar &7

How much does one need to add to E to obtain %‘?

Ans Xl.i
9

x>
(3._%
X4.?

Q.65 7fy ABCD we Thrr TS &, A1 cos?A — c0s?B — cos?C + cos? D) FT I T Ee?

If ABCD is a Cyclic Quadrilateral ,then the value of cos?A — cos®B — cos®C + cos?D is:

Ans X1 g
v
<30
X422

Q.66




"D E M N" & et 3R & s9aTiyd &3k T A =g e 97 SHHT

MR 38T Fr g9 m:

If all the letters “D E M N™ are arranged to form a meaningful word then the last letter of
the word will be:

Ans 'Xl-E
X2m
K 3N
v 4D

Q.67 @ 2018 ¥ TFa Tow AN ¥ wfaffed T ToR e (TE.dr )
3TETET HheT A=A 2

Which Indian-American is the chairman of the prestigious Federal Communications
Commission (FCC) of the United States as of March 20187

me sl T

3.
Neil Chatterjee
| FeT g

Ajit Pai

v

Q.68 2017 & yeif¥g AR 30EET 39=arg diar SE 3E BT & dws
T 7

Who is the author of the Indian English Novel ‘Sita: Warrior of Mithila' published in
20172

s, U
Robin Sharma
o, 3 fd
Amish Tripathi
Rahul Mehta
x4 Add HIT
Chetan Bhagat

Q69 31 WHET & WA A F AT HIPUT 9T F TS F

BEAK : EIFQ :: SAIL :
Select the missing term from the related pair of letter clusters.
BEAK : EIFQ :: SAIL :
Ans - X 1 RENV
X 2 VREN
v 2 VENR
X 4 VERN




Q70 i T ARIT T WA F TIY 21 3cUCH T &7
Which Indian state is the largest producer of Soyabean?

Ans x . m m.r
Himachal Pradesh
3T 9&2T

Andhra Pradesh
U 9T
Arunanchal Pradesh
| geer

| Madhya Pradesh

X 2

X 3.

-

Q.71 fafier wfeat gamr i v wet v wEr e afeesr & & .5 &

FAE. | Wt | gfEor | 9 | ofew | seR
1 A 40 |37| 35 27
2 B 6 |26| 76 36
3 C 83 |71 4 21
4 D 1 (7] 3 11

AT F e F 3R R FeAtai@a =T & 91 S

o B & &7 ¥ Fau e W =i

Parties and the seats won by them are listed in the following table.

S.No. |Party | South | East | West | North

1 A 40 37 33 27
2 B 6 26 76 86
3 C 83 71 4 21
4 D 7 3 11

Based on the given data, complete the following sentence:

Party B won the largest number of seats from the

A
ns ( 5 m
North
X 2 ;
South
CICEr: ]
West

x: T
East

X 3.

Q.72 5442673314884743581 Wit &, I¢ W T WAa 9g & 9O¢ T DA TET
HieT E §

In the series 5442673314884743581, the number that is sixth from the left of the seventh
term from the right is:




Ans X1 7
V23
X 31
X 44

Q.73 & a1 ‘;HH’-HIT‘% (Problem Figure) & 7% ﬁ?—ﬂﬁﬁﬁ (Answer Figures) &
T UF F TiedAted g1 58 Ical-HIFA i o 87

Problem Figure
Answer Figures
A B c D

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure
Answer Figures
A B C D
Ans «' LB

X 2D
X3 A
XaC

Q.74 FrretaTs (MasterCard) 3 FET HEwNT 3O 3T sreaeT (2018 &) Hea 2
As of 2018, who is the CEO and president of MasterCard?

Ans Tt sgeranferar
<L 2

Waris Ahluwalia
| T g
Ajaypal Singh Banga
| e o
Prabhjot Singh
CAREES

Darsh Singh

v

x

X 4

Q.75 gwst % TRET FT 2017 % gl & Tead H AN o 58 EF S 041 o

Which team did India defeat in the final of the 2017 Men's Asia Cup Hockey to claim the
title?

Ans
x 1 EiG]
China




STomeer
X 2
Bangladesh

HelfRrar
Malaysia
aifehEaTe
Pakistan

V3

X a4




Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

RRB Allahabad Asstt. Loco Pilot — Shift 2

Mica is used in:

A. furnace

B. electric industry

C. steel industry

D. glass manufacturing

B

Goitre in human body is caused due to
deficiency of:

A. Iodine B. Phosphorus
C. Nitrogen D. Calcium
A

The instrument used to measure the
electric current is:
A. Barometer

C. Ammeter

C

Automatic wrist watches get energy
from:

A. twist in spring

B. liquid crystal

C. kinetic energy

D. movement of our hands

B. Altimeter
D. Anemometer

B

Who wrote Akbarnama?

A. Faizi

B. Abdul Rahim Khankhana
C. Abul Fazal

D. Abdul Kadir Badayun

C

When a television is switched on:

A. We listen the sound first and then
see the picture

B. We see the picture first and then
listen the sound

C. It depends on the TV manufacturing
company

D. We get audio and visual at the
same time

A

Which country of the world has the
largest number of post offices?

A. France B. China
C. India D. Japan
C

8.

Ans.

Ans.

10.

Ans.

11.

Ans.

12.

Ans.

13.

Ans.

14.

Ans.

15.

Ans.

Which of the following states of India
has the longest coast line?

A. Kerala B. Gujarat
C. Tamil Nadu D. Andhra Pradesh
B

Two unequal masses possess the
same momentum, then the Kkinetic
energy of the heavier mass is
the kinetic energy of the lighter mass.
A. smaller than B. greater than

C. same as D. None of these

A

Where was the capital of Ranjit Singh,
the king of Punjab, located?

A. Peshawar B. Amritsar

C. Lahore D. Rawalpindi

C

The chemical compound wused in

photography is:

A. Aluminium Hydroxide
B. Silver Bromide

C. Potassium Nitrate

D. Sodium Chloride

B

The fundamental duties are enshrined
in which Article of the Indian
Constitution?

A. Article 51 A B. Article 50 A

C. Article 50 B D. Article 51 B

A

Momentum has the same unit as that
of:

A. torque

B. couple

C. impulse

D. moment of inertia

C

The mineral structure of diamond is:
A. Zinc B. Nickel

C. Nitrogen D. Carbon

D

Which of the following is an example
of fossil fuel?

A. Coke B. Natural gas
C. Coal gas D. Producer gas
B



16.

Ans.

17.

Ans.

18.

Ans.

19.

Ans.

20.

Ans.

21.

Ans.

22,

Ans.

Which part of the body is affected by
Jaundice?

A. Small intestine B. Liver

C. Stomach D. Pancreas

B

Uttar Pradesh tops in the production of
__in India?

A. sugar cane B. rice

C. barley D. wheat

D

The safe temperature to keep eatables
fresh in refrigerator is

A. 4°C B. 0°C
C. 18°C D. 10°C
A

The best conductor of electricity is

A. Aluminium B. Copper

C. Iron D. Silver

D

If the Ilength of a rectangle is

increased by 20% and its breadth is
decreased by 20%, its area:

A. increases by 4%
B. decreases by 4%
C. decreases by 1%
D. does not change
B

A train crosses two persons travelling
at 3 kmph and 5 kmph in the same
direction in 10 seconds and 11
seconds respectively. The speed of the
train is:

A. 28 kmph B. 27 kmph
C. 25 kmph D. 24 kmph
C

A is 20% less skilled workman then B.
If A takes 7% hours to complete a

work, then what time will B take to
complete the work?

A. 5 hours B. 5% hours
C. 6 hours D. 6% hours
C

23.

Ans.

24,

Ans.

25.

Ans.

26.

Ans.

27.

Ans.

28.

Ans.

29.

Ans.

30.

Ans.

The difference between the compound
interest and simple interest on a
certain sum at the rate of 5 p.c.p.a in
3 years is Rs. 15.25. The sum is:

A. Rs. 2000 B. Rs. 1000
C. Rs. 2500 D. Rs. 1500
A

On adding a natural number P to the
product of four consecutive natural
numbers we get a perfect square
number. The value of P is:

A. 8 B.2
C. 4 D.1
D
The fraction lying between z and g is:
2 31
A- gl B. 5
L= D.
B
The smallest 5-digit number divisible
by 41 is:
A. 10045 B. 10041
C. 10004 D. 41000
C
Choose the odd one out:
A. .42 -4 B.36-6
C.32-2 D.15-5
A

If the word CLOCK is written in a
certain code language as 34235 and
TIME is written as 8679, then how will
MOLEK be written in the same code

language?

A. 62495 B. 62945
C. 72495 D. 72945
C

If ASSIGN is written as SASING in a
certain code language, then KIDNAP
will be written as

A. IKNDPA B. IKDNPA

C. IKDNAP D. IKAPDN

B

Urea supplies - to the plants.

A. Calcium B. Phosphorus
C. Potassium D. Nitrogen

D



31.

Ans.

32.

Ans.

33.

Ans.

34.

Ans.

35.

Ans.

36.

Ans.

37.

Ans.

38.

Ans.

Which of the following is a physical
change?

A. Burning of cooking gas

B. Fermentation of milk

C. Digestion of food

D. Dissolution sugar in water

D

What causes cholera?

A. Bacteria B. Virus
C. Fungus D. Algae
A

An apparatus for viewing objects lying
above the eye level of the observer
and whose direct vision is obstructed
is known as:
A. Photometer
C. Planimeter
B

Which atom has only one electron?

B. Periscope
D. Spectrometer

A. Potassium B. Nitrogen
C. Oxygen D. Hydrogen
D

The organic acid present in vinegar is:
A. brufanoic acid B. propanoic acid
C. methanoic acid D. ethanoic acid

D

Water gas consists of:

A. a mixture of carbon monoxide and
hydrogen

B. water vapour and coal dust

C. a mixture of carbon monoxide and
nitrogen

D. water vapour and methane

A

A body strikes the floor vertically with
a velocity u and rebounds at the same
speed. The change of speed would be:

A. 3u B. Zero
C.u D. 2u
D

Which of the following is different from
others?

A. Speed B. Time
C. Density D. Force
C

39.

Ans.
40.

Ans.
41,

Ans.

42.

Ans.
43,

Ans.
44,

Ans.
45,

Ans.
46.

Ans.
47.

Ans.

What is the momentum of a man of
mass 75 kg when he walks with a
uniform velocity of 2 m/s?

A. 50 kg m/s B. 75 kg m/s

C. 100 kg m/s D. 150 kg m/s

D

At the centre of the earth, the value of
g becomes:

A. infinity B. unity

C. zero D. None of these

C

15 bulbs of 60W each, run for 6 hours
daily and fridge of 300W runs for 5
hours daily. Find the fortnightly bill at
the rate of 30 paise per unit.

A. Rs. 31.05 B. Rs. 45.55
C. Rs. 62.10 D.Rs. 75.10
A

Directions (42-47): In each of the
following questions, a number series is
given with one term missing. Choose
the correct alternative that will
continue the same pattern and fill in
the blank spaces:

1,2,3,6,9, 18, (....), 54

A. 18 B. 27
C. 36 B. 81
B

4,5,9, 18, 34, (....)

A. 43 B. 49
C. 50 D. 59
D

66, 36, 18, (....)

A. 3 B. 6
C. 8 D.9
C
3,6,5,20,7,42,9, (...
A. 54 B. 60
C. 66 D. 72
D

1,3, 4, 8, 15, 27, (....)
A. 37 B. 44
C. 50 D. 55
C

8, 10, 14, 18, (....), 34, 50, 66

A. 24 B. 25
C. 26 D. 27
C



48.

Ans.

49,

Ans.

50.

Ans.

51.

Ans.

52.

Ans.

53.

Ans.

54.

Ans.

The connected load of a consumer is 2
KW and his maximum demand is 1.5
KW. The load factor of the consumer is

A. 0.75 B. 0.375
C. 1.33 D. None of these
A

The electric current which changes its
direction after fixed intervals of time is
called:

A. induced current

B. direct current

C. alternating current

D. None of these

C

Sheaths are used in cables to

A. provide proper insulation

B. provide mechanica strength

C. prevent ingress of moisture

D. None of these

A

For the stable operation of
interconnected system, the passive
element that can be used as
interconnecting element is:

A. Reactor

B. Resistor

C. Capacitor

D. Resistor and Capacitor

C

The insulation resistance of a cable of
length 10 km is 1MQ, its resistance for
50 km length will be:

A. 1 MQ B. 5 MQ
C. 0.2 MQ D. 10 MQ
B

The rate of change of momentum is
directly proportional to:

A. Force B. Inertia
C. Moment D. None of these
A

Which of these converts
directly into electrical energy?
A. Solar cooker

B. Solar cell

C. Solar furnace

D. Solar water heater

B

sunlight

55.

Ans.

56.

Ans.

57.

Ans.

58.

Ans.

59.

Ans.

60.

Ans.

61.

Ans.

If four 80 uF capacitors are connected
in parallel, the net capacitance is

A. 20 uF B. 80 uF
C. 160 uF D. 320 uF
D

The transformer used to decrease the
magnitude of the alternating voltage is

step-up transformer
step-down transformer
. step-in transformer

. step-out transformer

DOOWP Y

When two bodies are rubbed against
each other, they acquire:

A. equal and similar charges

B. equal and opposite charges

C. unequal and similar charges

D. unequal and opposite charges
B

Electric charge can flow through:
A. insulators

B. conductors

C. Both insulators and conductors
D. Neither conductors nor insulators
B

A device used to stabilise the voltage
supplied by electric supply station is a:

A. dynamo B. transformer

C. ammeter D. generator

B

In the International system of

measurement, the ‘Kelvin’ is the unit
of

A. mass B. temperature
C. electric current D. air

B

Silver is a:

A. magnetic substance

B. good conductor of electricity
C. bad conductor of electricity
D. None of these

B



62.

Ans.
63.

Ans.
64.

Ans.
65.

Ans.
66.

Ans.
67.

Ans.
68.

Ans.

The instrument used to measure the
blood pressure of human body is:

A. Barometer

B. Actimeter

C. Sphygmomanometer

D. Tachometer

C

Who sent Huensang as an ambassador
in the court of Harsha?

A. Fu Chen-Chu B. Tai Sung

C. Tung Cuan D. None of these

B

Which metal is generally used to make
electromagnets?

A. Copper B. Nickel
C. Iron D. Cobalt
C

A man pays Rs. 20 in the first month
for clearing a debt of Rs. 3250 and
increases the monthly payment by Rs.
15 in every succeeding month. How
many months will he take to pay the
debt?

A. 20 months B. 23 months

C. 25 months D. 26 months

A

Artificial silk is called:

A. rayon B. decron

C. fibre glass D. nylon

A

In the letters left between nearest

letters of a sequence, there is a
decrease by one. In the following
letter series which one follows this
rule?

A. DIOTV B. DJOSV

C. DJosw D. DIOSU

B

Dynamo converts:

A. electrical energy into mechanical
energy

B. high voltage into low voltage

C. low voltage into high voltage

D. mechanical energy into electrical
energy

D

69.

Ans.

70.

Ans.

71.

Ans.

72.

Ans.

73.

Ans.

74.

Ans.

75.

Ans.

What the electrode that is connected
to the negative pole of the battery is
called?

A. Cathode B. Electroplate

C. Ion D. Anode

A

An instrument used to observe
heavenly bodies is:

A. telescope B. camera

C. microscope D. periscope

A

The maximum percentage in the
atmosphere is of:

A. Oxygen B. Nitrogen

C. Carbon dioxide D. Helium

B

What is the function of Ozone layer?

A. It prevents harmful infrared rays of
the sun from reaching the earth

B. It prevents radiation escaping the
earth, hence keeping it warm

C. It is essential for rainfall

D. It filters harmful ultra violet rays of
the sun

A

Lighting is caused in the sky due to
the flow of charge between:

A. two oppositely charged clouds

B. two similarly charged clouds

C. one neutral and one charged clouds
D. None of these

A

Which group of letters will complete
the letter series being placed in blanks
in order.

a_bbc_aab_cca_bbcc

A. bacb B. acba

C. abba D. caba

B

Directions (75-79): In each

question, a sequence has been given
which has a missing term. Pick out the
right alternative that completes the

sequence.
6, 10, 18, 34, 2

A. 46 B. 56
C. 66 D. 76
C



76.

Ans.

77.

Ans.

78.

Ans.

79.

Ans.

80.

Ans.

81.

Ans.

82.

Ans.

83.

Ans.

84.

Ans.

85.

Ans.

86.

Ans.

87.

Ans.

OTE, PUF, QVG, RWH, ?

A. SY] B. TXI

C. SXJ D. SXI

D

33, 28, 24, 2, 19, 18

A. 21 B. 22

C. 20 D. 23

A

Uuo,?EA

Al B. K

C. M D.N

A

7,12,19, 28,39, 2

A. 72 B. 60

C. 144 D. 52

D

Choose the odd one out

A. Wool B. Fur

C. Hair D. Grass

D

Game : Ground : Cinema : ?

A. Hall B. Stage

C. Screen D. Drama

C

Fruit : Banana : Mammal : ?

A. Cow B. Snake

C. Fish D. Duck

A

Girl : Beautiful :: Boy : ?

A. Smart B. Heroic

C. Courageous D. Handsome
D

Court : Justice : School : ?

A. Teacher B. Student
C. Ignorance D. Education
D

The first atomic power plant was
started in India at:

A. Narora B. Tarapur
C. Rawatbhata D. None of these
B

The least polluting fuel is:

A. Hydrogen B. Diesel

C. Kerosene D. Coal

A

Heart disease is caused by increase in:
A. Glucose B. Cholestrol
C. Heparin D. Haemoglobin
B

88.

Ans.

89.

Ans.

90.

Ans.

91.

Ans.

92.

Ans.

93.

Ans.

94.

Ans.

95.

Ans.

Which vitamin helps in clotting of

blood?

A. Vitamin B B. Vitamin B2

C. Vitamin K D. Vitamin D

C

In case the posts of President and
Vice-President lie vacant, who

officiates as the President?
A. Speaker of the Lok Sabha
B. Chief Justice of India

C. Attorney General of India
D. Chairman of Rajya Sabha

B

The chief source of energy is:
A. Vitamin B. Minerals
C. Carbohydrate D. Water
C

A shopkeeper bought goods for Rs.
2025. He sold gth of it at 20% profit

and the remaining at the profit of 5%,
the profit per cent on the whole is

A. 6% B. 7%
C. 6.5% B. 8%
D

A group consists of 25 men and 20
women. The average weight of men is
48 kg and that of women is 30 kg. The
average weight of the group is

A. 35 kg B. 39 kg
C. 40 kg D. 45 kg
C

A sum is divided among 120 men and
some women in the ratio 15:21. If
each man gets Rs. 5 and each woman
gets Rs. 4, the number of women is

A. 220 B. 200
C. 190 D. 210
D

Mustard is grown in:
A. Kharif season B. Rabi season

C. Jayad season D. Whole year
B

Magnetic needle directs to:

A. East B. Sky

C. North D. West

C



96.

Ans.

97.

Ans.

98.

Ans.

Two men can complete a work in 9
days. How many men will be required
to complete twice the work in 12
days?

A 2 B. 3

C. 11 D.4

B

Lord Buddha got emancipation

(Mahaparinirvana) at:

A. Kushinagar B. Lumbini
C. Bodh Gaya D. Kapilvastu
A

Malaria spreads by:

A. Culex mosquito

B. Anopheles mosquito
C. Water borne mosquito
D. None of these

B

99.

Ans.
100.

Ans.

k% %k

To conserve the eatables we use:
A. Benzoic acid

B. Sodium chloride

C. Sodium carbonate

D. None of these

A

The chief centre of learning during lord
Buddha era was:

A. Nalanda
B. Delhi

C. Varanasi
D. Bodh Gaya
A
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Q.1 2 e, a1 &0 & FF e ge FAer 2 AR 3 9T & Ry S ar ew S
#,mﬁw@wﬁméﬁaﬁrsd&ﬁmﬁraﬂaﬁrﬁlméﬁé sqfrg-é

off A il "TEat Uk Wy W A IR Thr B T HE AT H e
AT TRET?

Two pipes, when working one at a time can fill a cistern in 2 hours and 3 hours,

respectively while a third pipe can drain the cistern empty in 6 hours. All the three pipes
were opened together when the cistern was % full. How long will it take for the cistern to

be completely full?

Ans hd
o 1R

1 hour
,1ue 20 e
1 hour 20 minutes
x3'1 e 30 e
1 hour 30 minutes

.15 15 e

1 hour 15 minutes

<

v

Q.2 F@r & vF g # 12% gl & WAL 220 F 7= femwml 10% @07 & fAw 5w
FH aF] & Hed H focdelr ST wfge ar?

Jurko sold an item for 220 at a loss of 12%. By how much should she have raised the
price to make a profit of 10%?

Ans 1 T 05
« 2355
X344
7434840

93 1.004 — 0.4 BEF T

1.004 — 0.4 is equal to:

Ans  of 1 0.604
X 21
X 3.0.006




< 4.0.640

O T 7 @ ST @ o el 7
Which of the following solutions is alkaline?
Ans 1 [H*] = 1 x 10~*Mol/l
W 2 [H*] <1 x 107"Mol/l
X 3 [H*]>1x 10""Mol/l
X 4[H*]=1x10""Mol/l

** [KIA]®

1 2 3

4 5 6

D= | A

7 9

ofg R o RSt 1 Faer TF A FIAET Fh O WA AT S @ @ At
¥ g g

If three groups could be formed using the given figures only once, these groups would be

Ans x1.(1,3,?), (2,6,9) 3 (4,3,5)
(1.8,7), (2.6,9) and (4.3.5)

<2 (2,5,7), (1,6,9) 3i¥ (4,3,8)
(2,5,7), (1.6,9) and (4.,3.8)

(157), (26,8) 3 (4.3,9)
(1,5,7), (2,6,8) and (4,3,9)

v. (187, (269) 3T (4,3,8)
(1,5,7), (2.6,9) and (4.,3.8)

<

Q.6




fr ov a7 3w # FiF o1 T 37 JEfrat T oAt s wr g e
TRl § At srpEntad w8 §2

2
5 3
»
# Ed
] ——  Boys )  ——=  Athletics
/N —— cine [ ] ———+ Disaplined

-syoBwEF
-scitelhtARI=mEr
-sIriGer=feraT
-denilpicsiDateTem i

In the below Venn diagram which number space represents the girls who are athletes but
not disciplined?

&) 3 z

a
# k]
[ —— Boys O
/N o  cits [ ———= Disdplined

Ans  of 1. 4
x27
X33
X8

Athletics

Q.7 3cax fT (answer figures) & ¥ f5T 7w @awam =7 (problem figure)dr o=

HOdr ofy &1 =97 F1

o/ o/ o/

B c D

~—
Answer Figures
o%, (43 aN (43
o/
A

.Choose the correct water image of the given problem figure from the answer figures

Ans x1_c
X 2D
Vi3 A
X4+ B

Q.8 g A= fF=fafEa A ¥ Fe s saR g T e s asar &
Dwarfiess can be controlled by treating plants with:

Ans




. A3 = (Cytokinin)
Cytokinin
| o 3Fer (Gibberellic acid)
Gibberellic acid
X ofAfoT (Ethylene)
Ethylene
s HIfFHT (Auxin)

Auxin

v

Q.9 o a& W AR ¥ 3k B o & R @ #a-wr s T R

aF:
FEite FamreE & o B § 3wl seremiEt S smaEor s wer .
Erco e il

AT
1. Afgensit @ gRamw fFeEd
2. S & AT F FH AT = g B

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
The Supreme Court has decided that all rapists will be hanged till death.

Assumption:

1. Women will get protection.
2. The number of rapes cases can be reduced.

Ans X1 e AT 1 T ¢
Only assumption 1 is implicit
xz.“_”" 1dra 2 ?
Neither 1 nor 2 is implicit
X ST AT 2 T ¢
Only assumption 2 is implicit

n 3T 2 @ TIee #

Both 1 and 2 are implicit

v

x

YO qar 7 gfgaa H T FT FAT FET A &
The rate of change of velocity is called:
Ans—  eddUT

W
Acceleration

| .
Momentum

}(3.?'-%

Speed

x s I

Force

X2

Q.11




14, 21 FIT 35 % .. T 27

The LCM of 14, 21 and 35 is:
Ans o 1210
X< 270
< 3140
X a7

Q.12 A$1%MB#6&NC=3I0D+KP
1 ¥ 9T O (3T BiEAfeE) aF & J=a=dt 3w o 35+ a1 e T
& ST o S HIT ¥ 9f=El 98 i @ g

AS1%MB#6&NC=3!0D+KP
Starting from 1 till O (inclusive of both), if every alternate letter or number or symbol is
dropped then the fifth term from right is:

Ans K1-M
vt
X3 8
X4C

Q.13 r=faffa o o oo & 3 fotr o & et et # 2 Fia
vy fEe muea 3

T 7 HAAE. EEN oRE F HTH F WA F AT AT ?

faamg 1 : &, 78 9Rg # So=tE & BT v s S g g

g 2 : 7E), 78 SN WER & TIT UsET U sgall Wi @ §
Consider the given statement and decide which of the following argument(s) is/are strong.

Statement: Should CBDT abolish income tax in India?

Argument 1: Yes, it is an unnecessary burden on the wage earners in India.

Argument 2: No, it is a good source of revenue for Indian Government.

Ans x1.ﬁﬂﬁ13ﬁT2aﬁﬁ€Tmlﬂﬁﬂ'§i’?I

Neither argument 1 nor 2 is strong.

| Fe famme 2 & w2
Only argument 2 is strong.

| e faae 1 & T #
Only argument 1 is strong.

, B 1 st 2 & weea

Both arguments 1 and 2 are strong.

v

x

<

Q.14 ofer 3mesT A7 &7 AT 0o H &1 20 AT 3 I H Tohel £1 3 3 R 4 Hiwd 52
FH A Faa A AT R
Five men or ten women can complete a job in 20 days. In how many days can 3 men and 4
women complete it?

Ans x1_15
v 220
X325
X 410

Q.15




9T & 3. ¥¥ET @AF 54 T & waw 38 36 ¥ 300 T T o
arer A dgEre & T §1 Uy e dwe 9 wer wer T an

R. Ashwin of India became the quickest bowler to reach 300 test wickets in just 54 tests.
‘Where was this historic test played?

Ans FTAR

Q.16 Zr wEamsit & Tuewer 20 §l 39 & v WEAr 1.25 B qEd WA &4 87

The product of two numbers is 20. One of them is 1.25. What is the other number?
ans <112
X215
X314
V416

Q.17 ey FaEY sEAPR Ave WERR [h0 819 & 3o suaey # B far
S &

The Shanti Swarup Bhatnagar Prize is annually awarded for outstanding achievement in
which area?

Ans o, AT FHA Qe
Tribal Art Forms
AR e weia
Indian Classical Music
| o= 3R T

Science and Technology

ke

Literature

K2

v

F 8

Q.18 Tr=fafaa & & #l= a1 geffeor wenfas dwemst w smnfia §2
Which of the following classifications 1s based on atomic numbers?

Ans :‘HT'E]ﬁEF 3T|E|ﬁEF Hm
e
Modern Periodic Table

52
H2ela F1 afts arofl (Mendeleev's Periodic Table)
Mendeleev's Periodic Table

K3
I FT 1538 & fo19#7 (Dobereiner's Law of Triads)

Dobereiner’s Law of Triads
x 4 3iferced @ +gelsa WA

Newlands Law Of Octaves

Q.19




= el 3

—4—(-T—12+4) =2
Solve the following.

—4—(-7—12+4) =2
Ans X 1.0.75

K2 -2

VN

X414

Q.20 7 5 @%s & fardr a5g 71 391 5 #Hex WA WS & wgaT 10 Hiex 9 ws
g =& & g caor TR 7

If the initial velocity of a car is 5 m/s, and the final velocity is 10 m/s in 5 s, then the
acceleration is

Ans %, 01 Hrerafa Tt aes
0.1 m/s?

|1 aley oy =@ ds
1 m/s?

, 5 A 9fy T a3
5 m/s?

, 107X gfT To1 F
10 m/s?

v

x

x

Q.21 5@ o2 # o & 549 F AT g1 @ @ o ve 3 Fee Hr g F dwa
BIE HIUT &HT AT FAT g7

‘What is the measure of the smaller of the two angles formed between the hour hand and
the minute hand of a clock when it is 5:49 p.m.?

Ans 2C1.119°
< 2.120°
W 3110.5°
< 4.120.5°
Q.22 w e dig T o, e A # dlg et T emas R e

AT 627 B 643 ST TF aRT Fr 17 T Hr = T F B 9faw T

was a Chinese Buddhist monk, who studied Buddhist Scriptures at Nalanda and is
famous for his 17 year long trip to India between AD 627 to 643.

Ans x1_$|1%'a1c—rr

Fa-hien
T THaAm

X2
Al Beruni

| TS
Hiuen Tsang
AeTEATS

. Megasthenes

v

54

Q.23




fa= gt &1,

1 1 _
1+5in8  1-5ind

Solve the following:

1 1 _ 9
1+5inf  1-Siné ’
Ans x 1.1
2 2 2Cos%8
X3 0
v 4 2Sec?0

W A Rr ov Ry & BFaw a9 &2

What is the number of squares in the following figure?

Ans x18
xX27
<34
V5

Q.25 57 ReeT 1 79 & S I 98 ¥ 8 S veN @ TaEfhT 8, 9 gm
9g Tger Ug & T

F ;A A

Select the option that is related to the third term in the same way as the second term is
related to the first term.

Work : Joule :: Power :
Ans
x 1 ot

Strength

Q.26 3RT =Ee, “NA ¥ afEh g, I FeEn @ [y o =
2l

The Indira Point, the southern point of India, is situated in the tip of Great
Nicobar Island.




Ans Scadr

eastern

gfarofr

southern
qifErAT

western

W 3

F 8

Q.27 e AT e o Tl T FUET (3T SolaTeh g formeh sarg 7 §érey iy wige
4 TEHER & | TemeRy ST w7 = 21 Wt ¥ 8 T o 3 A smaewes ey
AT FATE?

A spherical glass vessel has a cylindrical neck 7cm long and 4cm in diameter. The
diameter of the spherical part is 21cm. Find the quantity of water it can hold.

Ans 1 4932 o HEHRT

4932 cm?

4930 T TEHRET
52

4930 cm?

4929 g HEHET
K3

4929 cm?

4939 g7 TAHET
v

4939 cm?

a2 T g 3x+y =13 px +2y=5F
S FY Pl IRHS g 6T g, Al

The pair of linear equations 3x +y = 1 and
px + 2y = b5 has no finite solution if

Ans x1_ pEﬁ

2 P=6
X3a0<p<o6
K4 P=0

Q.29 Has AR gFEEE F 99 FE-Fhs W O wfe s F Bw swa B
For ¥ FAeeT T FT W@ 7

India is collaborating with which country to set up a high-speed rail link between Mumbai
and Ahmedabad?

Ans KL aﬁm.

Germany




foea

Britain

5 4

Q'30 Distribution of various Minerals in Human

Body
Sodium

%
Potasium g,
0%
Caicium
25%
iron

18% Magnesium

®Cakium  ® Magnesiom #lron W Pctasium  ®Sodium

Distribution of various minerals in the human body- AT X & Rft==
Toeew =1 fawor

Calcium- Hferrrer

Magnesium- HITR=EH

Iron- #gT

Potassium- grefare

Sodium- TifETw

@ = I AT R’ # @At 7 A @ K@ § ) A R 7 e
o Wil T HERTRAT FAT Wi 7 gl 87

Distribution of various Minerals in Human

Body
Sodium

5%
Potasium gy
0%
Calcium
28%
iron

16% Magnesium

mCakium ® Magnesium % lon  mPetasiom  m Sodium

The given graph shows the distribution of minerals in the human body.
Which two minerals are required almost in the same percentage for the human body?

Ane v AEEA AT s
Sodium and potassium
| FenfTa i defRma
Magnesium and potassium
o, PIoRTH 3R AfsTH
Calcium and sodium

x4_ﬂ:1%amﬁ3m:‘-h:ﬁﬁmﬂ

Calcium and magnesium

x

Q.31 fr=faf@a # ¥ &l & aig FAY & TIA T /A FT F B § ?
‘Which of the following metals is a liquid at room temperature?

Ans wfEgE

Q.32




o= & @ FiF ¥ v 7 399 g @ pH # A & T o
Thas & w7 F frwr smar 2

Which one of the following is commonly used as an indicator to measure the exact pH?

Ans | gaﬂﬁ;r

Universal indicator

x4 beATThAT (Phenolphthalein)
Phenolphthalein

033 ey et & T W A AT WE AT B oA |

o o | o

mdRalales

A B C

Which of the four figures can replace the question mark?

o .
o

"
+

o

@
miRalales
A B c D
Ans X 1R

Q34 37 fadeq & o9 HY, S & TS T @ar 7 30T 3w

HIISIHIE

Select the option that would come next in the given figure series.

HilSHBIH

Ans




+e]

<[IE

Q35 g RS FfEAar Hr e F E TR 5T @A g2
‘Which Indian actor’s biography is titled ‘Anything but Khamosh’?
Ans A Tea{
K
Raj Babbar
Dharmendra
el
3.
Shatrughan Sinha
x4 IECICEEECT
Vinod Khanna

K2

v

Q36 37a7 37319 B FIE & FES ACTH ¥ & 2T AT 8
The egg is carried from the ovary to the womb through:
Ans ‘, . %ﬁm
the oviduct
x 2 TsTrer
the uterus
x o T Cpine:)
the vas deferens
x4 arsdrerar Aar

the cervix

Q.37 wiger 7 e AR g Afger gihr gde 2016 F BEAS wi d@ SR
o AeTdEE FT g SHar o

Which team won the 2016 Champions Trophy Women’s Hockey tournament defeating
Netherlands in the finals in London?

Ans xl m

Australia




=T
China

54

Q.38 37 FEaT AL F TIT W A FAEARRT TAg T GEOT 78 B

(1, 1), 4, 64), (8, 512), (9, 719)
Select the number pair that does NOT belong in the following group.

(1, 1), (4, 64), (8, 512), (9, 719)
Ans X 1.(8, 512)
X2(1, 1)
W3 (9, 719)
< 4 (4, 64)

Q-39 aﬁ%ﬂ?mﬁw;aﬁxﬂﬂmw%’?

It % 15 equivalent to %, then the value of x 1s:

Ans x1_5
< 218
<34
v 415

Q.40 g Fr waw (Feude M AR B=ar R) T IReamr & HROT 1T £
TR B ¥ |

The acceleration due to gravity at the surface of the earth (mass M and radius R) is
proportional to .

@41 arferefier SiraToy FITIRT T 7€ FET AT &
The motile germ cell is called a/an:

Ans x1_341$1q’ﬁ‘hﬂ€

Isogamete
HIGT AFHER
X2 °
Female gamete
oA YIHh
Vi
Male gamete

IIHEF
Koa 2
Gamete

042 ey TwaT FT 26% 65 §l TEAT 7T
26% of a number is 65. What is the number?




ans X 1260
X 2 40
v 2 250
X 4 50

QB A AT AT FFT FH 1, 5, 11, 19, 29 F Fe 2
‘Which of the given options is the pattern of the sequence 1, 5, 11, 19, 297

Ans 1 x2 4 x—2

X2x2—x—1
K3ax2tx+1
vix2yx—1

Q.44 9% FE ag ed@R 97 H gAR AT §, a7 3§ W fFar T |

If a body is whirled in a circle, then the work done on it .
Ans
x 1 fAefifta A& fovar o1 Thar &
cannot be determined

| RUTcH® &
1s negative
AT

x

v

1S ZEro
TPRIcHS ¢
4.

1s positive

x

Q45 wrgdr 2018 & 9T Hr T&W FH FT g2
Who is the Defence Minister of India as of February 20187

Ans HIAT FEIS
X1
Sushma Swaraj

72 eer darEa
Nirmala Sitharaman
AT AT

Uma Bharti

AT ameft
Maneka Gandhi

53

5 4

Q.46 o = 90 faeder 1 g TR & B w1y § a7 H ofE 3O sy
# 3 frdieier ofa ot FA f T § T R g & 39 Afee O Tgee
# 5 U e FHT A FOT FH AT af reer 9y 5 § Fw
ofr?

Krishna cycled a distance of 90 km at a certain speed. If he cycled 3 km slower every
hour, he would have taken 5 more hours to reach his destination. What is the speed in
km/hr at which Krishna actually cycled?

ans 118
X215
Va9
X475

Q.47




weeT fOEe & T X IS ATl W IS A

e
>

4

1 A

Choose the correct figure that can replace the question mark.

A e
L

1

Ans x1.2
<21
v 4
x4a3

?

04 T T FL
24 - [25- {26 - (27 - 28 —-29)}] =7
Solve the following;:

24 - [25- {26 (27 - 28 —29)}] =7
Ans x1._1

X 21
3 -2
vi-3

@49 250 F 46% TRER TET T2
46% of 250 is equal to:
Ans  of 1.115
/< 21035
<3112
<492

4" BIEPRE H AT T 22
What is the atomicity of Phosphorus?

Ans v Braraivas

Tetra-atomic




x o T qIHICaH
Mono-atomic

xo ST
Poly-atomic

< 4 aﬁ:

Di-atomic

Q.51 f2g7 72T S IF F&TT 4 F SR F THEET Fel goifar
FIT T Feol W FHH OEI g g8 Bar ar?

16

14 W Number of students

12

10

(= N oo

& & &
o &
o &

\Q
o)
=

il
z"’QQ
s
q\

The bar graph represents the favourite fruit of grade 4 students.
Which fruit among the given below was chosen by the least students?

16

W Number of students

14

12 +

10 +

(=] b - o oo

Ans

54
x Mango

Q52 R+JM2$#QR?+O@7F3
FR T egma 1 3TART FE @Iel AT 5
R#+ : J?F : $0OJ :
RHIM2$#QR?*O@7F3
Using the above sequence fill in the blank
R#*: J7F : : 307 :




Ans  of 1 QF #
Ko#@3
X 3. MOF
X 4 QF »
Q.53 f=ff@T # ¥ Sl o BeeT Ry 71v o ¥ wr giur uiafe & getar ¥

Ans

(3R T 3T FL?

HAPPY

Select the option that depicts the correct mirror image for the given word (ignore the size).

HAPPY

X< 1. ABbAH
X 2 YPPAH
v Y99AH
X 4+ HVbbA

Q.54

Ans

FAN AT & 3R &g & 3o - 3ol HHR QU o T § Fiiteh 38
[Ero il i

Metals can be given different shapes according to our needs because they possess the
properties of:

F A0
d=Iar AT drerehar (Ductility and conductivity)

Ductility and conductivity

K2
3mEcaARTar 3R @=RIAE (Malleability and sonorosity)
Malleability and sonorosity

K3
relehal 3R TFRITAET (Conductivity and sonorosity)

Conductivity and sonorosity

v &3
TEeafATar 3T F=7ar (Malleability and ductility)

Malleability and ductility

Q.55

Ans

mmﬁwﬁwm?wmm%mﬁﬁaﬂw@m
T oy famrem ST THaT &

FU:
Tl Feo fawelt &1 welt foet awemes &

forsa:
1. g3t TAeEE fRea &
2. w3l Pt THIES ¥

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
All dogs are cats. All cats are bats.

Conclusions:

1. All bats are cats.
2. All dogs are bats.

Faer fAshs 2 FTEor Far @

Only conclusion 2 follows

v a7




1 3R 2 ael JeERor e §
Both 1 and 2 follow

o, e s 1 Jregeor e ¥
3.

Only conclusion 1 follows
(TN 1 AT 2 TEOT AT
Either 1 or 2 follows

x

x

Q.56

AT AT Ter el &1 38U 1.6 > 100 CE, T aN A 1 A Rege v waifea
BT &, 7% T 3 To AT & Wedier Hehs H Taled glet arel Foragiel ol wear
forae B

Assuming that the charge of an electron is 1.6 x 1071° C, the number of electrons passing
through a section of wire per second when the wire carries a current of 1 A is:

Ans (116 % 10719
X 2.1.6x101°
< 3.0.625 x 1017
v 4625 %1018
Q57 sz v, U s UWHRaga sl X, umaa g ar w, v rfr

Ans

gl

If V is the brother of U, U is the sister of W and X is the husband of U, then W is Vs

by

X7
Mother
X2
e =&/ &3 ST A1 wel/ Ser e smsl (Brother-in-law or sister-
in-law)

Brother-in-law or sister-in-law

v TS ;AT TS
Brother or sister

5 4

== A w w6 a3 ey A w6 @ (Uncle or aunty)

Uncle or aunty

Q.58

Ans

12 + 3(-2 x 3) - (18 + B) T AT AT gEM?
What is the value of 12 + 3(-2 x 3) - (18 + 6)?
X115

<29

vi-9

X 45

Q.59




Rrarmm e AT AR T FH F o 7 FEE § § Oy suw
THEITE T W el TAT ST TR B

FU:
71 3T T = SIS 7 g F HRUT T FET TWER F sEE
T=ATT 9T el AT

FETE:
1. 77 A ST T Seshier ST fehall <A1 =ee|
2. wft FET TR HEEET e BT ser g

Consider the given statement to be true and decide which of the given courses of action
logically follow(s) from the statement.

Statement:
All the central government employees went on strike due to non-implementation of 7th
pay commission.

Course of Action:

1. 7th pay commission should be implemented immediately.
2. All the central government employees should be suspended.

Ans {Tmr-fﬁ T TT 2 T 9rela g 2l
Neither 1 nor 2 follows.
<2 FTeT 2 FT UTeT BT 2
Only 2 follows.
x 31 3t 2 3t Fr 9T T B
Both 1 and 2 follow.
s ael 1 1 Ui g &
Only 1 follows.
Q.60

O Bd
O @
S

ofg R arw Rt &1 9o vE 9 I # di WA ST S A9 @ at

TEEg _ ghn
B| b |
A[E®
Saledi=

If three groups could be formed using the given figures only once, these groups would be

Ans . (1,2,5), (3,6,8) 3iX (4,7,9)
(1,2,5), (3.6,8) and (4,7,9)
_(125), (47.8) 3 (3,6,9)
(1,2,5), (4,7.8) and (3,6,9)
(1.29), 37.8) 3t (4,6,5)
(1,2,9), (3,7.8) and (4.6,5)
" (1,2,5), (3,7,8) 3 (4,6,9)
(1.2,5), (3.7.8) and (4,6,9)

x

Q.61




o 7 T ST ¥ 9 F Faw FIfe Qe & ga w7 7
Which of the following plant tissues is capable of cell division?

Ans 4,1.%31351??

Meristem

SEeH

2.
Xylem

YeerIEAT

. Parenchyma

TFol{ARISAT

. Sclerenchyma

K3

54

22 o S T
One nanometer is:
Ans ' 107" e
10 m
107° #Hrex
10710 m
10° #Hrex
10% m
107 #Arex

10° m

52

K3

v

Q3 fer r T Wi N ik M T F v s e s r R d o
HieT T YA T4 ¢l

I Ycheh dig &l ot AT & o &F oiig $r el &1 aateT fordar &2

FU
1. Uk ST 0 T DTS goteT 5 e g
2. &= e ST T e oo, o e B AT & Fof g ¥ 20 FreamT
afer &

Consider the given question and decide which of the following statements is sufficient to
answer the question.

What is the weight of ten iron balls if each ball is of the same weight?

Statements:
1. One-fourth of each ball’s weight is 5 kg.
2. The total weight of three iron balls is 20 kg more than the total weight of two iron
balls.

Ane v T A AT § AT 2

Either statement 1 or 2 is sufficient

52
Hhell U 1 TITTT & FASTH kel YA 2 IJUATTT &

Statement 1 alone is sufficient while statement 2 alone is insufficient

K3
3hell YA 2 TAICH ¢ FATh Hholl 1 HUA AT &

Statement 2 alone is sufficient while statement 1 alone is insufficient
< 4 gl HUa 1 3 2 gIeg g

Both statement 1 and 2 are sufficient

Q.64




S 5@ & 15 9§ ok gl 12 9¥ Tgof o & 57 A HIH & 1.5
offl e go & gy s Hr &2
John is 15 years younger than Jill. 12 years ago, Jill’s age was 1.5 times that of John. Jill is

now __ yearsold.
Ans X130
X 245
v 3 57
X 442
e R d T T
Sound is a:
Ans b
"y TTF e
Mechanical wave
X2 ST G
Tidal wave

. faega IFha o
Electromagnetic wave

x4'ﬂ?—|‘€l’ﬂ'3{ﬁ

Surface wave

x

Q.66 T 1w 3N WAE & HN FFET & AR W e ' # 9 3gEa
R AR § &

ABC : ZYX :: DEF :

Select the missing term based on the given related pair of letter clusters.

ABC:ZYX:DEF:_____
Ans of 1 \WVU
< 2 VUW
23 UVW
<4 WUV

Q67 FgeR H AR H FIA-HT T=F T HEIcHT HAT g7
Which state of India celebrates the ‘Sangai Festival® in November?

Ans HERG]
X7

Gujarat
HEHTH
Assam

52

AT
VR
Manipur
x o TS
Tamil Nadu

Q.68 #gew ¥ fow T & @ Fi9 @ TpT = #1 v TE 777 W £ 2

Which one of the following is the largest source of natural energy to humans?
Ans




F 8
Animals

Q.69

10 Tl % WAg & Wredier & AT 20 g A 7Ag # ¥ vh oF Wed 4
ar d wog 7 dhae sgwt 21 & AT # T v o F A @ W
TR AT S geeT 20.6 & 7T 8l TAg & 9 9T o9 AR wE &
AT enfirer 9 % WIedik & Ea g

The average marks obtained by a group of 10 students were 20. One student left the group
as a result of which the average of the remaining students rose to 21. But another student
joined, as a result of which the average marks of the group dropped a bit and became 20.6.
What were the average marks obtained by the student who left and the one who joined?

Ans ?(1~16
X 215
X313
v 414
Q.70 9T # Aafear=a gy e Fia § o 2018 & I ¥ 39T FITAT

Ans

Tgor fmam &7
Who is the newly appointed Foreign Secretary of India who took charge in early 20187

v o Fee e
Vijay Keshav Gokhale

X2 AT AEl e
Rajni Sekhri Sibal

| 39T Teir
Usha Rani

. fafos FAR aeT
Nitin Kumar Yadav

x

x

Q.71




3T 3’ =T (Answer Figure) &7 =19 &Y AT 99 =T (Problem Figure) &
o T # T @ ¥ 39 g

Problem Figure

a7
LY
JAVAE

Answer Figures

NVAlSd

A B CD

Problem Figure - @&Ear =2, Answer Figure - 3ea¢ =
Select the Answer Figure that will correctly fit in the blank space in the Problem Figure.

Problem Figure

A7~
€A
JAVAE

Answer Figures

L1/

A B C D

Ans x1D
X2C
3B
v A

Q.72 farr gfaera wlietor & & ot x — Sl x =< ¥ o cfEra weler A R v
& for@r S Hepar 87

The two roots of an quadratic equation are given as x = iand X = %1 The equation can be
written as:

Ans o 1 2x—1D@Bx+1) =0
K22x+1DBx—1) =0
Xa(2x—-1DBx—1 =0
X4a2x+DBx+1D =0

Q.73 arelr A wrETer & ar Msior 1 oger R A orel-wEnr # Hqaa 501 ¥
AT EETH 3 1 F IS & T 31 2 F wegww & BfEE B s d
HTAA THe0T H I FRATe A e &7

Two water-squash mixtures, the first with a water-to-squash ratio of 5 : 1 and the latter

with a ratio of 3 : 1 are blended in the ratio 3 : 2. What is the final water : squash ratio in
the blend?

Ans X153
<261
Vi34

X410 : 9
7 wogfafams seERs Y @
Aluminium oxide is in nature.




ECAR: G
neutral

(4.3mmﬁ

amphoteric

53

Q7% ISR EIUT T Tl 1 hg AT BT & ?

Ans

What is the Centre of Curvature of a spherical mirror?
W
TE 3T WEer 7ier I g gaT § TS Aee YT Ue o AT ¥ |
It is the centre of a hollow sphere of which the spherical mirror is a part.
x 2
TF Iead TUVT & AET ¥l W & W fag § owd werr 7 ot am @
wee g &

It is a point from which the rays of light appear to be coming from on the principal axis of
a convex mirror.

Tg MR GHOT & AeARg gier ¢ |
It is the midpoint of a spherical mirror.

54
AT AT I W OF fig A ¢ A T FET 7T F TAWG T B
fmot sfafde & ar = § |

It is the point on the principal axis through which rays of light parallel to the principal axis
pass after reflection.

K3




